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1 [0 Y] WGTOUR -7 3,000,000
2 Zhe|! O A H -5 1,200,000
3 (28] WGTOUR -4 800,000
4 [ZX| 3l WGTOUR -4 600,000
5 [0 aI3] GTOUR -4 500,000
6 OpN=A% OFAE -4 300,000
7 NS GTOUR -3 300,000
8 HEE] GTOUR -2 300,000
9 (=53] OfAH -2 300,000
10 ESmETy GTOUR -2 300,000
11 REES GTOUR -2 200,000
12 (2] O A H -2 200,000
13 NEE] GTOUR -2 200,000
14 [ RIXH GTOUR -2 200,000
15 QHH| A2 OFAH -2 200,000
16 [O|Ha] WGTOUR -1 200,000
17 HEFE A |:|| Lt OFAH -1 200,000
18 [A &b GTOUR -1 200,000
19 ERES GTOUR -1 200,000
20 RE WGTOUR 0 200,000
21 [2=Ql] GTOUR 0 100,000
22 [HFEf A1) GTOUR 0 100,000
23 [H &6 2H GTOUR 0 100,000
24 [Z1 M %H2] GTOUR 0 100,000
25 [5t0| 2] WGTOUR 0 100,000
26 [Z A 4] GTOUR 0 100,000
27 [Z A ] GTOUR 0 100,000
28 (223 GTOUR 0 100,000
29 NETERE OFAE 1 100,000
30 (HEF] GTOUR 1 100,000
31 [0]#2] GTOUR 1 50,000
32 [RHX| 2] GTOUR 1 50,000
33 [MOIQ] OFAH 1 50,000
=g aead OpAH 1 50,000
35 [ Z35H GTOUR 1 50,000
36 Z QA GTOUR 1 50,000
37 [0]235] GTOUR 1 50,000
38 [RtE 0] WGTOUR 2 50,000
39 RHEH]FE OpAE 2 50,000
40 (St S] GTOUR 2 50,000
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